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IMPORTANT NOTES

wEwqut e

39 eat §fEsl 8 W9 &6 o & qd 9 G 31U, e i el SR & W o |
Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
&8 s /Fl Feg & ww9-13 *I Sig, w1 ol wH-wE & B wger sueh wier § S e W
Hehdl 2 |
Except Hindi Grammar/Hindi Essay question paper, all other question papers can be written either in Hindi
or English language.
Al #t 9a I Fuffa vl H dw @ st 38 e Tifie | 5 3ge7 +60 W sis SR S |
vl It § 73 AT & A € ford | wreft W W Fvn 7 ford o
The candidates should not write the answer beyond the prescribed limit of words; failing which, marks will be
deducted. Candidates should write the answers within the given lines. Please do not write in the blank space.
U 9 1 I SR gt # Fuffa e w @ e | s gfem (% e % gss afa) sl e
W G AT, AT AW, HA Hig T, T41 41 I HI§ TgTH (U5 3ifhd 7 H | I g - 9y 3=
@15 el derd &1 ot afdla B | 39 e &1 Sge w6 W el ) 98 s Aifw RBu fam sudh st
e & §f st |
Please write answers only in the prescribed space of Question-Answer Booklet. Do not make any mark of
identity inside the Question-Answer Booklet (including rough paper page) like roll number, name, any other
name, address or such other mark. Do not enclose anything with the answer booklet. The candidature of
candidates violating these instructions would be cancelled without even giving them any other notices.
i PR f amar R B s gfees d uds g 99 T A a @ A g A6
fod | a1t @A & wree forg e 3o A wlws grn s @ S |
Candidates are directed that they should not write (answer) outside the border line in every page of the
Question-Answer Booklet. Answer written outside the border line will not be checked by the Examiner.
Ffe foreft woa 4 forefl wanm <t &1 g a1 aearers Wb i 3R B Al v & R awr iR s @ A R
Y Hq1= /I |
If there is any sort of ambiguity/mistake either of printing or of factual nature then out of Hindi and English
versions of the question, the Hindi version will be treated as standard.
sreasfl ) e i dierg o § we 6 T R |
The Question-Answer Booklet is provided in a sealed envelope to the candidate.
Hdl yHIR (fH & IR FaE W ALWIAR. T W oft aifsq e fd/se 9 @ike W @

W | eI 1 6 98 N un. AR, vEeh Fdl A He-%e A8 e e off yer @ sfowe 98 @
Candidate should carefully fill up all desired details on this attached OMR Sheet of Question-Answer Booklet
with Blue/Black ball point pen. Please ensure that this OMR Sheet is not torn or damaged.
T8 . W.AR. 9 4 Wi A s R, el wfava geand geufea € | 9 e ) off spaeff e R
This OMR Sheet consists of two parts in which some information is pre-printed; remaining details have to be
filled by the candidate.
afd weAteR i #dl § F-%d a1 3z R, @ dowre A F A= § @ & A%l I GgTar o, AT IR
Tifea et < &hm |
If the Question-Answer Booklet is torn or not printed properly, immediately bring it to the notice of
invigilator and get the Question-Answer Booklet changed, otherwise the candidate will be liable for that.

ot Atz : sreff gro af ot wn. R, I W et gE il S R 1 8RR wemr R i wdend it 2, @ smim
a1 |yl wdien g sr=afdar e o1 gt el IEe fore sraeff @ IeerEh B

Special Note : If there is any wrong information filled by the candidate on the OMR Sheet, or it is damaged in any
way, then his/her candidature for the entire examination shall be rejected by the commission, for which he/she

himself/herself will be liable.
SPECIAL INSTRUCTION
farre o
(A) -9 3 @uei-‘ qu ¥ 4§ fawfsa R | s wvs § &7 gou v & ome siada wuw: sifveg-sada,

og-3aid vd G-Il 39-9w @ U | Ad-3ndy el d saies Gwes B # | v@s u F wuw
I5e Uit aifeha fopu e € |

The question paper is divided into two Sections as ‘A’ and ‘B’. There are three questions as very short answer
type, short answer type and long answer type questions in each Section, in which there are
sub-questions in each question. There is internal choice in long answer type questions. The maximum marks
are printed in front of each question.
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@uE- ‘@’ /SECTION - ‘B’
Tl T YA A 15 Afergsei 399w & | U U 1 I AfUehad 15 ¥ 20 weal 1 ¢ @ | ol yed e # | vl
%1 03 (FF) s F1 2 | 15x3=45
Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.

T : (1.1) TRETEh TTEe = g ? 1./M=03
What is family health ?
Il ; [rarenes
.IM=03
U 1 (1.2) IR.HLUAR. F1E 2 h
What is ICAR ?
.IM=03
UM : (1.3) “AYSHH WRG AT F1 8 ? i
What is ‘Ayushman Bharat Yojana’ ?
I : YTHTH
. 9./M=03
UM : (1.4)  TaHE Siere foe Jeer 291 8 2
What is ‘Pradhan Mantri Kaushal Vikas Yojana’ ?
q./M=03
UH : (1.5) ‘FfN fosm &5 w2
What is ‘Krishi Vigyan Kendra’ ?
I : bl
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@uE - ‘@ /SECTION - ‘B’
o : 1.

% 03 (Fi=) IR F R |
Que.: 1.

20 words. All questions are compulsory. Each question carries 03 (three) marks.

3 WE ¥ 15 AfaergIaiy I9-uv & | YdE YA & I fuwan 16 | 20 vedl # e 2 | avft wem atfrad € | e

15x3=45
This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to

IH : (1.6) ‘Ta.AE.d. qa ‘Tgw w= g 2
What are ‘HIV’ and ‘AIDS’ ?
3l ;

9./M=03

U (1.7) Wit fawm &%+ §9 Sg sdnu |

Mention any three features of Social Development.
I :

H./M=03

I : (1.8) Taramm & R yg@ SR s |

Mention three main causes of displacement.
I :

q./M=03

99 : (1.9) WRA # Jg-drenfrh & gt gy g4 |

Mention three social effects of biotechnology in India.
Il :

q./M=03

T : (1.10) WET WS TST Al a1 3 & i yg@ s fafae |

Write three main functions of Madhya Pradesh State Public Service Commission
I

9./M=03
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@uE .- ‘@ /SECTION - ‘B’
U1, 38 U A 15 AfderEaiT -9 8 | IeE 9 H1 I Afakan 15 d 20 vsgl 7 o1 @ | At uw arfard € | v
9% 03 (F7) =i F1 B | 15%3=45

Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.

T : (1.11) 9 AR | 39 991 qEEd § 2 1./M=03
What do you understand by Senior Citizen ?
Il UTHTE
: siag ./M=03
T : (1.12) TIF TP & TIE@ 3 & Fa3C | &
Mention the main bodies of United Nations.
I TTHH
: H./M=03
W : (1.13) % (SAARC) % ¥ee o9l & 4 foifan |
Write the names of member countries of SAARC.
Ejs 0! ITHIE
9./M=03
T : (1.14) B aia9 3GH #7918 ?
What is Green Box Subsidy ?
I : '
) ) _ q./M=03
99 : (1.15) -t gady afufeat gt =g = Fata s 8 2
Which Parliamentary Committees control public expenditure ?
I : ‘
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@uE - ‘@ /SECTION - ‘B’
wva:2, f=fafiea @ 9 R 10 w931 & 3@ atfiman 100 w1 (v) 1 fofige | v w93 06 (3:) i 1 2 | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 weords each. Each question carries
06 (six) marks.

w9 :(2.1)  fd Fda = & e fowm § sm A E sfufem 6 yfies e Hifve | T./M=06

Explain the role of RTE Act in the educational development of very poor children.

I ; THTH
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@UE .- ‘@ /SECTION - ‘B’
2. fyefafaa 7 9 fdi 10 weAi & 3w sAfasman 100 w=81 (v) @ fafiau | v 999 06 (3:) I R | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

I :(2.2) Afvas ufoie § 3= e deami 4 gea e i sreavasa w v fevnft fafEw | q./M=06

Write a note on the need of value education in higher education institutions in the
global context.
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@UE . ‘@ /SECTION - ‘B’
w2, fefefies § @ R 10 v F 3w Afuman 100 v (va@s) 3 faflae | ve@s 9 06 (8:) FHE F12 | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

. : i : JM=
T :(2.3) WRA § JIHHI hI FGdl T GHINS HRU ! ==l B | fduid
Discuss the social reasons for the increasing number of old age homes in India.
I : qIHT
-10-
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[E]:25F;
@ug.- ‘@’ /SECTION - ‘B’
uw:2. Fafafas 3 8 R 10 v & 3@ sifusan 100 9= (v O foaflae | 9o 999 06 (3:) SR R | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

I : (2.4) ‘Taramm fawm w1 ufom 2 1 w9 ifv | 9./M=06

‘Displacement is the result of development.” Explain.
I ; qTHTH

11




M-2019(SE)/GS-lI-B/12

@WuE - ‘@ /SECTION - ‘B’
ww:2. frafafiaa 49 3 fed 10 v & 3 sifissan 100 w=di (wveis) @ feflan | 9 999 06 (3:) sl F1 2 | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

. /M=06
5 1 (2.5) TRet wifth e w0 @ 2 wer W # 5w Ao ) fufy e Hifv | b
What is Kishori Shakti Yojana ? Explain the status of this scheme in Madhya Pradesh.
I : b
-12-
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@UE .- ‘@ /SECTION - ‘B’
ww:2. frafafiga 4 @ e 10 v & 3 sifimran 100 =21 (9e3s) § fefiaw | v w99 06 (8:) iRl F1 2 | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

" e s M=06
U : (2.6) SHAHR &A1 T GEANTG Yoa 6t guen oy fifs | &
Explain the problem of institutional delivery in tribal areas.

I ;
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@ug. ‘@ /SECTION - ‘B’

2. fafafiga @ 3 el 10 w9 & 3@ stfiesan 100 981 (v) @ fofiae | s wea 06 (8:) 3iHi 1 2 | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
: ; a : /M=06
Yo (2.7) T Fanel ) anfn wfkensi @ wgEn § s (ASHA) $t s wre £ | 4
Explain the role of ASHA in taking health services to rural women.
IS5 L ST

-14-




M-2019(SE)/GS-II-B/15

@us .- ‘&’ /SECTION - ‘B’
a2, fcfufed @ 4 Rl 10 vl % 3w sAfusan 100 wedl (W) A fafgu | v W 06 (S:) i H R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

T ¢ (2.8) WG TETHA [ # uiciearin qun od.A.end. it yfim Ty Hifu |

Explain the role of polytechnic and I.T.I. in human resource development.

9./M=06

I ;

<45~
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@UE. ‘@ /SECTION - ‘B’
w2, Trafofieas § @ f@ 10 v & 3w sfusan 100 wedi (vee) 3 fofiae | v@% 997 06 (3:) i #12 | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

q./M=06

99 1 (2.9) HYw Uy it wifd I gean afefy & av F same |
Write about the Peace and Security Council of United Nations.
IW : WTHT
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@UE - ‘@ /SECTION - ‘B’
ww:2. fr=fafiea 3 3 e 10 vl F 3@ sfusan 100 s=81 (va) 4 faflae | v&s w99 06 (8:) st 1 2 | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

T : (2.10) SAUET g1 HIY H1 &uaT G HrRiE w= R 2 9./M=06

What is the capacity development programme of the International Monetary Fund ?
s LA ,

A7=
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@uE .- ‘& /SECTION - ‘B’
a2, Frfafad # 3 fE 10 v F 3w afusan 100 weEl (vei) # faflay | 98 99 06 () I HR 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.

g : (2.11) fava 3= & +@1 6 fag= Fifse |
Describe the functions of the World Bank.

9./M=06

IW :
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@vsE.- ‘@’ /SECTION - ‘B’

uw:2. frefafaa 3 @ R 10 vl F 39 sifusman 100 wsdl (veres) # fofigu | 9% w99 06 (B:) 376 FR | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
: 9./M=06
T : (2.12) fava =R e @ Fmio 5 gen 2
How was the World Trade Organization (WTO) formed ?
HTHETHR

I 3 L

-19-
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Que. : 3.

@uE- ‘@ /SECTION - ‘B’
TH W9 ¥ 03 I9-99 &, el 9 1 I Afueran 300 el A 1 R | welt wod svframd # | el v # sriafen faeed
i # | i o srafts fages 1 3w 2 @ & Suw e PE IW F e sfarE: | TR W 15 (958) I
H2 | 3x15=45
There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

W : (3.1) awmet fEmn @ yfea & # w=n fian B awen w o i | LS

Explain the problem of girl education in the areas affected by Naxalite violence.

HYAT/OR WTHTS
vard! 4fie | 39 F1 qued # 2 YAt afgen gfient & foe e s @ s sriwat
&t ==t Hif |

What do you understand by migrant labour ? Discuss the welfare programmes being
run for migrant women workers.
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@WuE. ‘@ /SECTION - ‘B’
W¥:3. 36 W A 03 -9 §, T W & IR AfuEan 300 weal # 21 R | weft v e # | wdw g § siaies fashed
i 2 | el Fom raftes faeeq 1 I 2 T # IH WY 3@ I % Gy AFEEE: W | TS T 15 (F58) i H
2| 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

¥ : (3.1) continued (FR})

-21-
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@uE. ‘@ /SECTION - ‘B’
U :3.  3H WA H 03 -9 &, Ueh WA 1 I SAfuehad 300 W H 3 2 | Wt e orfrad # | wee we i sriatts feed
i ® | srdfi o stiafe faes 1 3 3 R € S w9e 3g@ I & g AFEEa: H | U0 9 16 (958 S #
g2l 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

Y97 : (3.1) continued (FR7)

-22-
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@UE. ‘@ /SECTION - ‘B’
UST:3. 3@ U I 03 -UH B, T UH F1 I Aluwad 300 weal § 21 @ | |l wom frawd # | v@s w8 s fawen
i 2 | el fora sriafes faees &1 39 2 ® § 309 We IPW I qUY Aadd: H | TSE T 156 (F5E) I A
21 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

U9 ¢ (3.2) TH-IRESA T 19 91 THIA & 2 YA ° :9whe weamr wEdwnt i ==t Hifse | T./M=15
What do you understand by disabled ? Discuss the disabled welfare programmes in
India. =
HYET/OR T
mﬁﬁmaﬁqﬁmﬁaﬁﬁqwmnﬁmﬁ%mﬁmmmﬁ
Fraat i e wae i |

Define empowerment and explain the role of schemes of Madhya Pradesh government
in the empowerment of rural women.

23
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@UE. ‘@ /SECTION - ‘B’
U :3. 3 UE H 03 399 &, Iede A 1 IR IAHan 300 we2l 2 2 | vt wvA sifrad # | vee wee ° snafs feew
fi 2 | sl form sriafis fasen &1 3w 2 @ ¥ Saw e PE I S oy stEr: w1 | v@s vE 15 (S5E) i H
gl 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

¥ : (3.2) continued ( 37??)

-24-
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W-Q’/SECTION-‘B’
WoT:3. 39 9§ 03 I9-99A §, Tk WA 1 I Afeepan 300 g # a1 B | weft wem srframd € | v v § arafe fwen
ot 2 | areli form sriafies fawes &1 3 2 @ § I9E WY IPW IN & Ay AEEa: B | TS TH 15 (FEE) Ahl H
21 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

99 : (3.2) continued (SHT)

i, L8
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@us - 'a’/SECTION -‘B’
T 3. 39 WA § 03 I9-UH 7, UE WH H1 I AfUHan 300 i # 2 B | wsh v aiframd ¥ | vls wew # viafe feew
ot & | sl o sriafes fases #1 3w 2 @ ¥ 30 T2 IgE IW S v st B | 9664E 5H 15 (FF8) A H
7 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

9./M=15
9 :(3.3) oI ongl afifa & e 9 i @ avi fifse | sem s ae R 2
Describe the formation and functions of the Public Accounts Committee (PAC). What :
is its importance ? JTHTER

FHUET/OR

gfage T Hifd i sretreaTns faa= fifso |
Critically analyse Compensatory Fiscal Policy.
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E‘Ug-’ﬂ"/SECTION-‘B’
WeT:3. 36 9 H 03 I9-9F £, T oA 1 IR ATUEad 300 wedl 2 2 | welt wew P ¥ | v v | st fawen
i & | sradi fm sriaft faswes &1 3 2 @ § I9% WP IPW I & Gy AHaHa: B | TS T 15 (TEE) IHH H
21 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

99 : (3.3) continued (577??)

D7-
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@uE .- ‘& /SECTION - ‘B’
U:3.  3H WA 03 -9 §, TIF T H1 I AfsHan 300 wed § 20 2 | weft wua srfrard # | v ww § wtiahs e

i 8 | aradi fom st faes &1 3 2 @ & Sa 9w sgw I % qua fada: w5 T 15 (92R) S #
21 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

97 : (3.3) continued (TR7)
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